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Run 3843 mpswise: Acc0/NAcc0, all MPSs
h_all

Entries  47844
Mean   0.4393
Std Dev    0.3178

Run 3843 mpswise: Acc0/NAcc0, all MPSs
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Run 3843 mpswise: Acc0/NAcc0, laser OFF
h_lasOff

Entries  26218
Mean   0.4494
Std Dev    0.3132

Run 3843 mpswise: Acc0/NAcc0, laser OFF
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Run 3843 mpswise, (beamState==1 || beamState==2) && (laserState==0 || laserState == 1) && helicityStateReported==0

mpswise_beam1_las1_hel0_acc0

Entries  10513
Mean        0
Std Dev         0

Helicity==0
Helicity==1

Run 3843 mpswise, (beamState==1 || beamState==2) && (laserState==0 || laserState == 1) && helicityStateReported==0
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Run 3843 mpswise, (beamState==1 || beamState==2) && (laserState==2 || laserState==3) && helicityStateReported==0

mpswise_beam1_las0_hel0_acc0

Entries  10762
Mean   0.4236
Std Dev    0.1581

Helicity==0
Helicity==1

Run 3843 mpswise, (beamState==1 || beamState==2) && (laserState==2 || laserState==3) && helicityStateReported==0
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Run 3843 mpswise, beamState==0 && (laserState==0 || laserState == 1) && helicityStateReported==0
mpswise_beam0_las1_hel0_acc0

Entries  300
Mean  0.1431− 
Std Dev    0.08615

Helicity==0
Helicity==1

Run 3843 mpswise, beamState==0 && (laserState==0 || laserState == 1) && helicityStateReported==0
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Run 3843 mpswise, beamState==0 && (laserState==2 || laserState==3) && helicityStateReported==0
mpswise_beam0_las0_hel0_acc0

Entries  2353
Mean  0.2001− 
Std Dev    0.08052

Helicity==0
Helicity==1

Run 3843 mpswise, beamState==0 && (laserState==2 || laserState==3) && helicityStateReported==0
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